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o This sﬁbjcct .c':on—sists of "two Question Bboklets Q
: . uestion
Bookle‘t-(@) is of MCQ type of questions and Question Booklet-(B) is
of Subjective type of questions (Question-cum-Answer Booklet).
Question Booltlet-(A) MCQ Type has to be answered first
and then Question Booklat.(B) (Question-cum-Answer Booklet).
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frg T ® aRafa® BT g & ?
(1)  3Fead (2) 344
(3 wEaA (4) T ¥ FHIE T

Which mirror has a real focus ?

(1) Concave (2) Convex

(3) Plane : (4) None of these

2. TR ARA F FEA HH-T1 907 T 2l & 0

1) gae
) (2) 3O

(3 | ,
) (4) 9 {8

- Whi
ch mirror is used ; in front of- motor vehn;le ?

Moncave

(2) Convex

(4) None of thege

SCI .
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3. uﬁ:@ﬁaaﬁm—m%,waﬁm@w% ?
«(1) 50§+ 2) - 100 |
(3) -50 % (4) 100 F

If the power of a lens is — 2D, what is its focal length ?

(1)  50cm ° (2) -100cm
3) -50cm (4) 100 cm

4 P A R Rew T T o & 2
(1) w= (2)
(@)  ¥iww @ -ém'

Which one of the following mediums has the highest refrac

index ?
(1)  Air (2) Water
(3) Glass ¥y~ Diamond

[x-336-A] scI
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5. &wmmaﬁﬁ?-#{wﬁmm% ?
(1) | ‘(2.) frse—s
«(3) @t fawdgor | (4) FH YR T
Which phenomenon of light occurs by prism ?

(1) - Reflection (2)  Refraction
(3)  Dispersion (4)  None of these
6. I3 AW i SR & oRT gRT QU R S & 2
(1) 3&ad &9 X(2) IaA AN
e(3) fE-wiwdt ofw | 4) T A

By the use of which lens is eye defect of presbyopia corrected ?

(Il} Concave lens ' (2) Convex lens

'43)/ Bifocal lens (4)  None of these

3861 | SCi . 5 0f 23
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T BN F A few T E S R & 2

(1 A Ny e
SO (4) drem

What colour is the danger sign made of ?

(1) Blue (2) Red
(3) Green (4) Y’cllow
8  fowarR #1 S| A §
«(1) A (2) @
3 FEH 4) 51Dy

The S.I. unit of Potential difference is

\.LL)"" volt

(3) couldmb

[x-336-A7 . sc1
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forege R F wy Y T 3 for Rt S e S 2 2
(1) SR @ e

(3) IR (4) T QB T
What is used to measure current in electric circuit ?

(1)  Voltmeter (2) Galvanometer

(3) Ammeter (4) None of these

10. Fa?a?aﬁﬁlfﬁazﬁ 120 FEi™ T S FAIEe €I &, A Fted U F
aF feamr & 2

(1) 1A “(2) 2A
@) 4A - (4 3A

What will be the value of electric current if 120 coulomb charge is

passed for 1 minute through a bulb ?

1) 1A e T2a

j 3) 4A (4) 3A
scr
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1. ﬁg‘i’-ﬁzfaqamaﬁmﬁ%

4
(1) 3-6x10° .(g) 3.6x10"

. S
3 3-6x10° ¥ .(4) 3:6x10° I

The value of one unit of electrical energy is

(1) 3-6x10°J @ 3-6x10*J
(3] 3-6x10%J @ 3-6x10°J
12, foRm R STE S W e e §
() S | | @) m
@) e @ e

The device to get electric current is called

U}~ Generator (2) Ammeter

(3)  Motor (4)  Galvanometer

[x-336-A] sCY
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13. oYYYd & 999 gy o faga uRn & 99 @ S @
v(l) a@m . (2) aga‘m

3) v (4) Wﬂmw’

During short circuit, the value of electric current in circuit

becomes
4 very high (2) verylow
(3)  zero | (4)  none of these

14, Her feems 4w e wer o) o ?

(1) =7

(2) &\
B & @) R P
Blue litmus paper tumg red by

\/(»"" Acid (2]

Salt

(3) Base

[X336A

(4) None ¢f these

‘8cy
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5. f A ERE 2

(2) HNOg

(1) CH,COOH
(3) NaCl ©(4)  NaOH
Which

of the following is a basc ?

(1) CH,coon (2) HNO,
)  Nacl (4}~ NaOH

16, Frem = e g3 2

(1)  CaSO,.5H,0 B CaSO, . 2H,0

(3) CaSO,.7H,0 (4) caé,o4 .1 H,0

The chemical formula of gypsum is
)| CaSO, . SH,O
(1) 4 - SHy B Caso, . 2H,0
3 CaSOQ, . 7H,0 4
) 4+ "B (4) Casoq-%l-lzo

SCI
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U 8CI

HHEHOT Cacosﬂ_.caof(‘:o2 T fopg weR F AuTFT R 7 -
(1) HaeE - (2 faasE
@) Fem @) TR

What type of reaction is in the equation

CaCO, —H<& Ca0+CO, ?
(1) Combination {2~ Decomposition

*

(3? Displacemcnt. - - (4}  None of these
18. 1 o fergga mmﬁ%ﬁgwaﬁq-ﬁf.ﬁ#wﬂﬁr% ?
W H, @ o
@ o5 @ N,
. Wl'.licl'_x gas is emitted on anode in the elcctrolysis of water ?

(1) H, W o,

-~

8 o, 4) N,

1X-336-A sy
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Jo.  ITHEE- FONEA AGRAT 1 qEL A H € 2
1) wERT (2 o
((3) W | | (4) 3’:"3 | I Tl

What is the other name for oxidation-reduction reaction ?
(1) Corrosion . (2)  Rancidity

(3)  Redox - (4)  None of these

20, f=1 4 forga & waew O e ©

(1) Cu : (2) e
(3) - Al (4] Zn

[

The best conductor of clcetricily among the following is ‘

(1) Cu : (2) Te
@ - Al | (4) 2n
X-3 . _ Sl

https://www.jharkhandboard.com


https://www.jharkhandboard.com

21. TUS TH
(1) uqE (2) IR
(3) famwre (4) 39U R

Sulphur is a
(1] Metal U2 Nen-metal

{3) Mixture (4) Metalloid

22. R AR S # fraurg W wd §

(1) T (2) W&
(3) TH HeH ' (4) ITUR

The alloy of lead and tin is called

.,_,(,1-)’/' solder (2) stecl

(3) - gunmetal (4)  mectalloid

[x-336-A]" SCI
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23. CMH, , Fe&ammgad
(1) A | (2) &R
(:J Tehre | (4 ¥ § HIT T
General formula C,H,,,, is for
44— Alkane (2) Alkene

(3) Alkyne (4) None of these

24, UfFeERE F yEATTE TTE ¢
(1) —OH (2) —CHO
3) =co' | (4) —COOH
The functional group of Aldehyde i.s
(1) -OH (2) —CHO

3 =CO | (4) —=COOH

https://www.jharkhandboard.com
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25, UuHTe wifean @ sifafwar @ wm-a1 g a9 )
~(1) H2 (2) 0,
38) N, 4) CO,

Ethanol‘ reacts with sod'ium to form which gas ?
HH, 20 Oy,
8] Ny (4 Co,
26.  ¥YH angd WReit § sl W e &
(1) 7 2 8
@ (4) 13

The number of periods in the modern periodic table s

() 7 2 8
3 9 4 18

https://www.jharkhandboard.com
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27.

@t 9T & fAT v €
(1) CO, v | (2) ARG
@ @) wE

Essential for autotrophic nutrition is

(1']' | CO, and watcer (2)  chlorophyll
(3) Sunlight | J4}— All of these
28. WY Ufad m{ ara“f ?
(1) sEEE @ e
@ @ @) e
Gﬁstric glands are found in
41')"; Storﬁach | . (@ Lungs

3 Live
(3) iver (4) Duodenum

https://www.jharkhandboard.com
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20 T IEw EE AT
(1) =Wy
) STERE ER @ o9 siam
@ weIwo @ ‘W'a'm
Bile juice is secreted by

Small intestine

JUX~ Pancreas 2)

(3) Duodenum {8y Liver

30. waR BA e U FEE ?

(1) . ufg= 2) fred

-

RS

- (3)  HgEm / @)

Which is the smallest endocrine gland ?

(1) Adrenal \-('i)/. Pituitary

| (3) Medulla (4) Thyroidy
| 17 of 23
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31. HET I YT &
(1) =t &t H 4 (2) W d

(3) T H FHE ~,(4)‘ A o HH |

Goitre disease develops due to

(1) lack of sugar (2) obesity

(3)  blood loss (4}— iodine dcficiency

32. WOTHRN H @ QU AT E 2

(1) TS (2) I

(3) TR 4) whRr

What is found in anther ?

1 Corolla

437~ Pollen grains
(4) Gynoecium

X-336: scr
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(1) e A @ s

(8) e A @) el o §

Where does the process of fertilisation take place in humans ?
https://www.jharkhandboard.com

@ Uterus ~ (2) Vagina

() Ovary I8~ Fallopian tube

24, fodt fa F7 A G Feerd €
(1) ARy (2 e

(3) el (4) fafewn

The genetic constitution of an individual organism is called

(.1) phenotype (2} genotype

(4)  variation

(3)  heredity

[x.336-A]
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35. U @ T SE-U e gy faert € 2
(1 XX | @ XY
3) XXX (@) XXY
Which sex chromosomes are found in 2 woman ?
(1 XX | @ XY
3) XXX (@) XXY
36, W@ AT FA TN TEEA €
(1) ATP (2) ADP
@ CBC (4) . DDT

Biomagnification causing chemical is

(1) ATP (2) ADP
3) CBC 4~ DDT
X-336- §CI
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37. A9 IR &
\”

(1) S TR ‘@) e T =

The tiger 1s a consumer ol
(1) first trophic level (2) second trophic level
{23y~ third trophic level (4) none of these

w1g. Py aMiEieR’ wa SR T T a2

(1) 1970 (20 1972
(3) 1964 (4) 1962

When was 'Chipko movement’ started ?

(1) 1970 (2) 1972
(3) 1964 4) 1962
X-336-A SCY 21 of @3
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7o e @ AT ST WA HA F AT Ge oy g A g JIen

(1) 20km/h «(2) 15km/h
3) 10km/h @) 3 awE

The minimum wind velocity to get useful energy from the windmill

should be
(1) 20 km/h (215 km/h
(3) 10km/h . (4)  None of these

40, 5 ferge g3 R ot @ Faega St N wurAE e & 2
(1) adE S 2) AT Tt
(3) R FHer | @) fefes =t

What cncrgy is converted into electrical energy in

a hydroelect
plant ?

(1) Thermal energy® (2) ¥ Nuclear energy

(3) Solar energy x ~(4‘)/ Potentinl energy
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